

Gunraj Prasad; Harvir S. Kasana

On linear methods of summations of a Fourier series

*Archivum Mathematicum*, Vol. 23 (1987), No. 2, 63--68

Persistent URL: <http://dml.cz/dmlcz/107280>

## Terms of use:

© Masaryk University, 1987

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

## ON LINEAR METHODS OF SUMMATIONS OF A FOURIER SERIES\*

G. PRASAD and H. S. KASANA

(Received December 27, 1984)

**Abstract.** In this paper the authors have discussed the necessary and sufficient conditions for the Fourier series of the function  $f(t)$  to be summable  $(A)$  at a point  $t = x$ .

**Key words.** Triangular matrix, Fourier Series, Sequence transformation,  $(A)$  summable and Abel's transformation.

**MS Classification.** 40 C 05.

**Introduction.** Let  $A = (\alpha_{n,k})$ ,  $(n = 0, 1, 2, \dots; k = 0, 1, \dots, n; \alpha_{n,0} = 1)$ , be a triangular matrix of real numbers. For a given infinite series  $\sum u_n$ , let the series to sequence transformation  $\sigma_n$  be defined by

$$(1.1) \quad \sigma_n = \sum_{k=0}^n \alpha_{n,k} u_k.$$

If  $\sigma_n \rightarrow s$  as  $n \rightarrow \infty$ , then series  $\sum u_n$  is said to be summable  $(A)$  to  $s$ .

The following notations will be frequently used:

$$\Phi(t) \equiv \Phi_x(t) = \frac{1}{2} \{f(x+t) + f(x-t) - 2f(x)\};$$

$$D_k(t) = \frac{\sin(k+1/2)t}{2 \sin t/2};$$

$$M_k(t) \equiv \sum_{i=0}^k D_i(t) = \frac{\sin^2(k+1)t/2}{2 \sin^2 t/2},$$

and

$$N_k(t) \equiv N_{k,n}(t) = M_n(t) - M_k(t) = \frac{\sin(n+k+2)t/2 \sin(n-k)t/2}{2 \sin^2 t/2}.$$

Let  $A$  be a triangular matrix satisfying

$$(1.2) \quad \sum_{k=0}^n \frac{(k+1)(n-k)}{n+1} |A^2 \alpha_{n,k}| \leq A.$$

\* Research supported by University Grants Commission, New Delhi (INDIA).

Then Efimov [1] has shown that

$$(1.3) \quad \sum_{k=0}^{\nu} (k+1) |\Delta^2 \alpha_{n,k}| \leq A,$$

$$(1.4) \quad \sum_{k=\nu+1}^{n-1} (n-k) |\Delta^2 \alpha_{n,k}| \leq A,$$

$$(1.5) \quad |\alpha_{n,k}| \leq A, \quad k \in N \text{ (natural numbers),}$$

$$(1.6) \quad k |\Delta \alpha_{n,k}| \leq A \quad \text{for } 1 \leq k < \nu,$$

$$(1.7) \quad (n-k+1) |\Delta \alpha_{n,k}| \leq A \quad \text{for } \nu < k \leq n,$$

and

$$(1.8) \quad \sum_{k=0}^n |\Delta \alpha_{n,k}| \leq A,$$

where  $\Delta^2 \alpha_{n,k} = \alpha_{n,k} - 2\alpha_{n,k+1} + \alpha_{n,k+2}$ ,  $A$  is an absolute constant and  $\nu = [n/2]$ ,  $[x]$  represents integral part of  $x$ .

The following well known relations will also be used in the sequel:

$$(1.9) \quad \frac{1}{k+1} \int_0^{\pi} M_k(t) dt = \frac{\pi}{2}, \quad k \in N,$$

and

$$(1.10) \quad \int_0^{\pi} |N_{n-m-1}(t)| dt = O(n)$$

for  $m = \nu - 1, \nu, \nu + 1$ ; and following relations hold uniformly with respect to  $n$  and  $k = 0, 1, 2, \dots, n$  as

$$(1.11) \quad \frac{1}{k+1} \int_{2\pi/(k+2)}^{\pi} |N_{n-k-1}(t)| dt = O(1),$$

$$(1.12) \quad \frac{N_k(t)}{2n-k} \leq A,$$

$$(1.13) \quad \int_0^{2\pi/(k+2)} |N_{n-k-1}(t) - N_{n-k}(t)| dt = O\left(\frac{1}{k+1}\right),$$

$$(1.14) \quad \int_{2\pi/(k+3)}^{2\pi/(k+2)} |N_{n-k-1}(t)| dt = O(1),$$

and

$$(1.15) \quad \frac{\sin(2n-k+1)t/2 \sin(k+1)t/2}{(k+1)t^2} - \frac{\sin(2n-k+2)t/2 \sin kt/2}{kt^2} = O(1).$$

2. We now prove

**Theorem.** For a triangular matrix  $(\alpha_{n,k})$  with positive elements such that  $\alpha_{n,k} \rightarrow 1$  as  $n \rightarrow \infty$ , if (1.2) is satisfied and  $\varphi(t) = o(1/\log t^{-1})$  as  $t \rightarrow 0$ , then

$$(2.1) \quad \sum_{k=0}^{n-1} \frac{\alpha_{n,k}}{(n-k+1) \log(n-k+1)} \leq A,$$

if and only if the Fourier series of  $f(t)$  is summable  $(A)$  to  $f(x)$  at  $t = x$ .

Proof. For given  $\varepsilon > 0$ , we choose  $\delta > 0$  such that

$$(2.2) \quad |\varphi(t)| \log(1/t) < \varepsilon, \quad 0 < |t| < \delta.$$

Taking (1.1) into account and using Riemann–Lebesgue theorem and regularity of  $(A)$ , we have

$$(2.3) \quad \begin{aligned} \sigma_n - f(x) &= \frac{2}{\pi} \sum_{k=0}^n \Delta \alpha_{n,k} \int_0^\pi \varphi(t) D_k(t) dt = \\ &= \frac{2}{\pi} \left\{ \sum_{k=0}^v \Delta \alpha_{n,k} \int_0^\delta \varphi(t) D_k(t) dt + \sum_{k=v+1}^n \Delta \alpha_{n,k} \int_0^\delta \varphi(t) D_k(t) dt + \right. \\ &\quad \left. + \sum_{k=0}^n \Delta \alpha_{n,k} \int_\delta^\pi \varphi(t) D_k(t) dt \right\} = I_1 + I_2 + o(1) \quad (\text{say}). \end{aligned}$$

On applying Abel's transformation and (1.3), (1.9), (1.6) and (2.2), we observe that

$$(2.4) \quad \begin{aligned} |I_1| &= \left| \frac{2}{\pi} \int_0^\delta \varphi(t) \left\{ \sum_{k=0}^{v-1} M_k(t) \Delta^2 \alpha_{n,k} + M_v(t) \Delta \alpha_{n,k} \right\} dt \right| \leq \\ &\leq \frac{2}{\pi} \int_0^\delta |\varphi(t)| \left\{ \sum_{k=0}^{v-1} M_k(t) |\Delta^2 \alpha_{n,k}| + M_v(t) |\Delta \alpha_{n,k}| \right\} dt \leq \\ &\leq \varepsilon \sum_{k=0}^{v-1} (k+1) |\Delta^2 \alpha_{n,k}| + \varepsilon(v+1) |\Delta \alpha_{n,k}| < A\varepsilon, \end{aligned}$$

and in view of (1.10), we get

$$(2.5) \quad \begin{aligned} |I_2| &= \left| \frac{2}{\pi} \int_0^\delta \varphi(t) \left\{ \sum_{k=v+1}^n \Delta \alpha_{n,k} (N_{k-1}(t) - N_k(t)) \right\} dt \right| = \\ &= \frac{2}{\pi} \left| \int_0^\delta \varphi(t) \left\{ \Delta \alpha_{n,v+1} N_v(t) - \sum_{k=v+1}^{n-1} \Delta^2 \alpha_{n,k} N_k(t) \right\} dt \right| \leq \\ &\leq \frac{2}{\pi} \int_0^\delta |\varphi(t)| \left| \sum_{k=v+1}^{n-1} N_k(t) \Delta^2 \alpha_{n,k} \right| dt + \frac{2}{\pi} |\Delta \alpha_{n,v+1}| \int_0^\delta |N_v(t) \varphi(t)| dt \leq \\ &\leq \frac{2}{\pi} \int_0^\delta |\varphi(t)| \left| \sum_{k=v+1}^{n-1} N_k(t) \Delta^2 \alpha_{n,k} \right| dt + A\varepsilon(n-v) |\Delta \alpha_{n,v+1}|. \end{aligned}$$

Let

$$N_k(t) = V_k(t) + W_k(t),$$

where

$$V_k(t) = \begin{cases} N_k(t) & 0 \leq t \leq 2\pi/(n-k+2) \\ 0 & 2\pi/(n-k+2) \leq t \leq \pi \end{cases}$$

and

$$W_k(t) = \begin{cases} 0 & 0 \leq t \leq 2\pi/(n-k+2) \\ N_k(t) & 2\pi/(n-k+2) < t \leq \pi. \end{cases}$$

Applying (1.7) in (2.5) and further use of above notations leads to

$$(2.6) \quad |I_2| \leq \frac{2}{\pi} \int_0^{2\pi/(n-k+2)} |\varphi(t)| \left| \sum_{k=v+1}^{n-1} V_k(t) \Delta^2 \alpha_{n,k} \right| dt + \int_{2\pi/(n-k+2)}^{\delta} |\varphi(t)| \left| \sum_{k=v+1}^{n-1} W_k(t) \Delta^2 \alpha_{n,k} \right| dt + A\varepsilon.$$

Since

$$\begin{aligned} \sum_{k=v+1}^{n-1} \Delta^2 \alpha_{n,k} V_k(t) &= \sum_{k=v+2}^{n-1} (n-k) \Delta \alpha_{n,k} \left\{ \frac{V_k(t)}{n-k} - \frac{V_{k-1}(t)}{n-k+1} \right\} + \\ &+ \Delta \alpha_{n,v+1} V_{v+1}(t) - \sum_{k=v+2}^n \Delta \alpha_{n,k} \frac{V_{k-1}(t)}{n-k+1} = \\ &= \sum_{k=v+2}^{n-1} (n-k) \Delta \alpha_{n,k} \left\{ \frac{V_k(t)}{n-k} - \frac{V_{k-1}(t)}{n-k+1} \right\} + \Delta \alpha_{n,v+1} V_{v+1}(t) - \\ &- \alpha_{n,v+2} \frac{V_{v+1}(t)}{n-k+1} - \sum_{k=v+3}^n \alpha_{n,k} \left\{ \frac{V_{k-1}(t)}{n-k+1} - \frac{V_{k-2}(t)}{n-k+2} \right\}, \end{aligned}$$

on using (2.2), (1.4), (1.10) and (1.12) it follows that

$$(2.7) \quad \begin{aligned} &\int_0^{\delta} |\varphi(t)| \left| \sum_{k=v+1}^{n-1} V_k(t) \Delta^2 \alpha_{n,k} \right| dt \leq \sum_{k=v+2}^{n-1} (n-k) |\Delta \alpha_{n,k}| \times \\ &\times \left\{ \int_0^{2\pi/(n-k+2)} |\varphi(t)| \left| \frac{V_k(t)}{n-k} - \frac{V_{k-1}(t)}{n-k+1} \right| dt + \int_{2\pi/(n-k+2)}^{2\pi/(n-k+1)} |\varphi(t)| \left| \frac{V_k(t)}{n-k} \right| dt \right\} + \\ &+ |\Delta \alpha_{n,v+1}| \int_0^{2\pi/(n-v+1)} |\varphi(t)| |V_{v+1}(t)| dt + |\alpha_{n,v+2}| \times \\ &\times \int_0^{2\pi/(n-v+1)} |\varphi(t)| \left| \frac{V_k(t)}{n-v+1} \right| dt + \sum_{k=v+3}^n |\alpha_{n,k}| \times \\ &\times \left\{ \int_0^{2\pi/(n-k+3)} \left| \frac{V_{k-1}(t)}{n-k+1} - \frac{V_{k-2}(t)}{n-k+2} \right| |\varphi(t)| dt + \int_{2\pi/(n-k+3)}^{2\pi/(n-k+2)} |\varphi(t)| \left| \frac{V_{k-1}(t)}{n-k+3} \right| dt \right\} \leq \\ &\leq A\varepsilon \left[ \sum_{k=v+2}^{n-1} |\Delta \alpha_{n,k}| \left| \frac{n-k}{n-k+1} \right| + \sum_{k=v+3}^n \frac{\alpha_{n,k}}{(n-k+1) \log(n-k+1)} \right] + \\ &+ A\varepsilon [(n-v-1) |\Delta \alpha_{n,v+1}| + |\alpha_{n,v+2}|] < A\varepsilon. \end{aligned}$$

Now, for the expression involving  $W_k$  in (2.6) we proceed as (in view of (1.11) and (1.4))

$$\int_0^\delta |\varphi(t)| \left| \sum_{k=v+1}^{n-1} \Delta^2 \alpha_{n,k} W_k(t) \right| dt \leq \sum_{k=v+1}^{n-1} |\Delta^2 \alpha_{n,k}| \int_0^\delta |N_k(t)| |\varphi(t)| dt \leq A\varepsilon.$$

Using (2.7) and above in (2.6), we are able to show that  $|I_2| < \varepsilon$ . This fact coupled with (2.4) and taking (2.6) into account, gives

$$|\sigma_n(x) - f(x)| < A\varepsilon + o(1).$$

To prove necessary part, it is enough to show that  $I_2 = o(1)$  as  $n \rightarrow \infty$  implies the condition (2.1).

We observe that

$$\begin{aligned} I_2 &= \frac{2}{\pi} \int_0^\delta \varphi(t) \sum_{k=0}^{n-v-1} (\alpha_{n,n-k} - \alpha_{n,n-k+1}) D_{n-k}(t) dt = \\ &= \frac{2}{\pi} \int_0^\delta \varphi(t) \sum_{k=0}^{n-v-1} (\alpha_{n,n-k} - \alpha_{n,n-k+1}) \frac{\sin(n+1)t \cos(k+1/2)t}{2 \sin t/2} dt - \\ &- \frac{2}{\pi} \int_0^\delta \varphi(t) \sum_{k=0}^{n-v-1} (\alpha_{n,n-k} - \alpha_{n,n-k+1}) \frac{\cos(n+1)t \sin(k+1/2)t}{2 \sin t/2} dt = \\ (2.8) \quad &= P + Q \text{ (let).} \end{aligned}$$

Further, by using (1.7), (1.4) and (1.9), we treat with  $Q$  as

$$\begin{aligned} |Q| &= \left| \frac{2}{\pi} \int_0^\delta \varphi(t) \left\{ \sum_{k=0}^{n-v-2} M_k(t) \Delta^2 \alpha_{n,n-k} + M_{n-v-1}(t) (\alpha_{n,v+1} - \alpha_{n,v+2}) \right\} dt \right| = \\ &= \left| \frac{2}{\pi} \int_0^\delta \varphi(t) \left\{ \Delta \alpha_{n,v+1} M_{n-v-1}(t) - \sum_{k=v+2}^n M_{n-k}(t) \Delta^2 \alpha_{n,k-1} \right\} dt \right| \leq \\ (2.9) \quad &\leq A\varepsilon \{ (n-v) |\Delta \alpha_{n,v+1}| + \sum_{k=v+2}^n (n-k+1) |\Delta^2 \alpha_{n,k-1}| \} < A\varepsilon. \end{aligned}$$

Again, in view of (2.8) and (2.9), it is enough to verify that (2.1) is implied by

$$\int_0^\pi \frac{\left| \sum_{k=0}^{n-v-1} (\alpha_{n,n-k} - \alpha_{n,n-k+1}) \{ \sin(n+1)t \cos(k+1/2)t \} \right|}{2 \sin \frac{t}{2} \log \frac{\pi e^2}{t}} dt = o(1).$$

On applying Abel's transformation and noting the fact  $|\sin x| \geq \sin^2 x$ , we find that the above relation implies

$$\begin{aligned} &\int_0^\pi \frac{\sin^2(n+1)t}{\log \pi e^2 t^{-1}} \left\{ \alpha_{n,v+1} \frac{\cos(n-v-1/2)t}{2 \sin t/2} + \right. \\ (2.10) \quad &\left. + \sum_{k=0}^{n-v-2} \alpha_{n,n-k} \sin(k+1)t \right\} dt = o(1). \end{aligned}$$

We know the well known results:

$$(2.11) \quad \int_0^{\pi} \frac{\sin^2(n+1)t \cos(n-\nu-1/2)t}{2 \sin t/2 \log \pi e^2 t^{-1}} dt = O(1)$$

and

$$(2.12) \quad \int_0^{\pi} \frac{\sin(k+1)t \cos 2(n+1)t}{\log \pi e^2 t^{-1}} dt = O\left(\frac{1}{n}\right), \quad 1 \leq k \leq n.$$

Thus (2.11), (2.12) and (2.10) yield

$$(2.13) \quad \int_0^{\pi} \left\{ \sum_{k=0}^{n-\nu-2} \alpha_{n,n-k} \frac{\sin(k+1)t}{\log \pi e^2 t^{-1}} \right\} dt = O(1).$$

Further,

$$\int_0^{\pi} \frac{\sin(k+1)t}{\log \pi e^2 t^{-1}} dt = \left\{ \int_0^{\pi/2(k+1)} + \int_{\pi/2(k+1)}^{\pi} \right\} \left\{ \frac{\sin(k+1)t}{\log \pi e^2 t^{-1}} \right\} dt = R + L.$$

We treat  $R$  and  $L$  separately as

$$(2.14) \quad R = \int_0^{\pi/2} \frac{\sin t}{(k+1) \log \pi e^2 (k+1)t^{-1}} dt \geq \int_{\pi/3}^{\pi/2} \frac{\sin t}{(k+1) \log \pi e^2 (k+1)t^{-1}} dt \geq \\ \geq [2(k+1) \log \{3e^2(k+1)\}]^{-1},$$

and

$$(2.15) \quad L = \left[ -\frac{\cos(k+1)t}{(k+1) \log \pi e^2 t^{-1}} \right]_{\pi/2(k+1)}^{\pi} + \frac{1}{k+1} \int_{\pi/2(k+1)}^{\pi} \frac{\cos(k+1)t}{t(\log \pi e^2 t^{-1})^2} dt = \\ = \frac{(-1)^k}{2(k+1)} + O\left\{ \frac{1}{(k+1) \log^2(k+1)} \right\}.$$

$\left| \sum_{k=0}^{n-\nu+2} \{(-1)^k/(k+1)\} \alpha_{n,n-k} \right|$  is bounded. Therefore (2.13) implies (2.1) in view of (2.14) and (2.15).

This completes the proof.

#### ACKNOWLEDGEMENTS

The authors are extremely thankful to the referee for making the paper more complete and intelligible.

#### REFERENCES

- [1] A. V. Efimov, *On linear summability methods for Fourier series*, Izv. Acad. Nauk. SSSR; Ser. Math. 24 (1960), 743-756.

G. Prasad and H. S. Kasana  
 Department of Mathematics  
 University of Roorkee, Roorkee - 247 667 India